
SAP ABAP table SI_COBL {Coding Block - Special Fields for RW / LO}

SI_COBL

BLART [CHAR (2)]

BSCHL [CHAR (2)]

SAKNR [CHAR (10)]

BWART [CHAR (3)]

BKLAS [CHAR (4)]

MEINS [UNIT (3)]

WAERS [CUKY (5)]

TXJCD [CHAR (15)]

FKART [CHAR (4)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VALUSER [CHAR (2)]

SUBSTID [CHAR (7)]

VALID [CHAR (7)]

LNRAN [NUMC (5)]

SOBKZ [CHAR (1)]

PRVRG_SV [CHAR (4)]

AUFNR_ORG [CHAR (12)]

ANEK

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

GJAHR [NUMC (4)]

LNRAN [NUMC (5)]

 SI_COBL-LNRAN = ANEK-LNRAN 
0..N

0..N

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 SI_COBL-AUFNR_ORG = AUFK-AUFNR 
0..N

1

GB03

VALUSER [CHAR (2)]

 SI_COBL-VALUSER = GB03-VALUSER 
0..N

0..N

GB92

MANDT [CLNT (3)]

SUBSTID [CHAR (7)]

 SI_COBL-SUBSTID = GB92-SUBSTID 
0..N

0..N

GB93

MANDT [CLNT (3)]

VALID [CHAR (7)]

 SI_COBL-VALID = GB93-VALID 
0..N

0..N

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 SI_COBL-SAKNR = SKA1-SAKNR 
0..N

0..N

T003

MANDT [CLNT (3)]

BLART [CHAR (2)]

 SI_COBL-BLART = T003-BLART 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]
 SI_COBL-MEINS = T006-MSEHI 0..N

0..N

T025

MANDT [CLNT (3)]

BKLAS [CHAR (4)]
 SI_COBL-BKLAS = T025-BKLAS 0..N

0..N
T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 SI_COBL-SOBKZ = T148-SOBKZ 
0..N0..N

T156

MANDT [CLNT (3)]

BWART [CHAR (3)]

 SI_COBL-BWART = T156-BWART 

0..N

0..N

TBSL

MANDT [CLNT (3)]

BSCHL [CHAR (2)]

 SI_COBL-BSCHL = TBSL-BSCHL 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 SI_COBL-WAERS = TCURC-WAERS 

0..N

0..N

TJ01

VRGNG [CHAR (4)]

 SI_COBL-PRVRG_SV = TJ01-VRGNG 

0..N

{0,1}

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 SI_COBL-SPART = TSPA-SPART 

0..N

0..N

TTXJ

MANDT [CLNT (3)]

KALSM [CHAR (6)]

TXJCD [CHAR (15)]

 SI_COBL-TXJCD = TTXJ-TXJCD 

0..N

0..N

TVFK

MANDT [CLNT (3)]

FKART [CHAR (4)]

 SI_COBL-FKART = TVFK-FKART 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 SI_COBL-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 SI_COBL-VTWEG = TVTW-VTWEG 

0..N

0..N


